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Mark the letter A,B,C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of of the following questions.

Question 1 A. social      B.secure
 C.conical
D.sector

Question 2 A.chemical
 B.stretch
  C.charge
D.achieve
Mark the letter A,B,C,or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions

Question 3/ A. automatic
  B. emotional                        C. appreciate

D. insensible

Question 4/ A. poisonous B. directly                             C. suddenly

D. manual

Question 5/ A. reduce
  B. minor
          C. faithful

D. household
Read the following passage and mark the letter A,B,C,or D on your answer sheet to indicate the correct word for each of the blanks.                  

          Animals have an intuitive awareness of quantities. They know without analysis the difference between a number of objects and a smaller number. In his book “ The Natural History of Selboure ” (1786), the naturalist Gilbert White tells how he surreptitiously removed one egg a day from a plover’s nest , and how the mother laid another egg each day to make up for the missing one. He noted that other species of birds ignore the absence of a single egg but abandon their nests if more than one egg has been removed. It has also been noted by naturalists that a certain type of wasp always provides five – never four, never six  - caterpillars  for each of their eggs so that their young have something to eat when the eggs hatch. Research has also shown that both mice and pigeons can be taught to distinguish between odd and even numbers of food pieces. 

      These and similar accounts have led some people to infer that creatures other than humans can actually count. They also point to dogs that have been taught to respond to numerical questions with the correct number of barks, or to horses that seem to solve arithmetic problems by stomping their hooves the proper number of times.

        Animals respond to quantities only when they are connected to survival as a species – as in the case of the eggs – or survival as individuals - as in the case of food. There is no transfer to other situations or from concrete reality to the abstract notion of numbers. Animals can “count” only when the objects are present and only when the numbers involved are small – not more than seven or eight. In lab experiments, animals trained to “count” one kind of object were unable to count any other type. The objects, not the numbers, are what interest them. Animals admittedly remarkable achievements simply do not amount to evidence of counting, nor do they reveal more than innate instincts, refined by the genes of successive generations, or the results of clever, careful conditioning by trainers.

Question 6/  What is the main idea of this passage?

A. Of all animals, dogs and horses can count best.

B. Careful training is required to teach animals to perform tricks involving numbers

C. Although animals may be aware of quantities, they cannot actually count.

D. Animals cannot “count” more than one kind of object.

Question 7/  Why does the author refer to Gilbert White’s book in the passage ?

A. To contradict the idea that animals can count.

B. To provide evidence that some birds are aware of quantities.

C. To show how attitudes have changed since1786.

D. To indicate that more research is needed in this field.

Question 8/  The word “surreptitiously” is closest in meaning to ______.

A. stubbornly
     B. secretly
                 C. quickly
D. occasionally

Question 9/  The word “odd” refers to which of the following?

A. numbers such as 1, 3, 5 and so on
B. unusual numbers

C. lucky numbers
D. numbers such as 2, 4, 6 and so on

Question 10/  The word “they” refer to______.

A. numbers
B. animals
C. achievements
            D. genes

Question 11/  The word “accounts” is closest in meaning to ______.

A. reasons
B. deceptions
C. invoices
D. reports
Question 12/  According to information in the passage, which of the following is LEAST likely to occur as a result of animals’ intuitive awareness of quantities?

A. When asked by its trainer how old it is, a monkey holds up five fingers.

B. A lion follows one antelope instead of the herd of antelopes because it is easier to hunt a single prey.

C. When one of its four kittens crawls away, a mother cat misses it and searches for the kitten.

D. A pigeon is more attracted by a box containing two pieces of food than by a box containing one piece.

Question 13/  Where in the passage does the author mention research that supports his own view of animals’ inability to count?

A. “In his book …… the missing one.”                   B. “In lab experiments…….other type”

C. “Research has shown that …… food pieces.”  D. “These and similar accounts …..count.”

Question 14/  The author mentions that all of the following are aware of quantities in some ways EXCEPT _____.

A. caterpillars
B. mice
C. plovers
D. wasps

Question 15/ The word “ abandon” in the passage is closest in meaning to 

A.vacate                    B. rebuild                       C. move                       D. guard
Read the following passage and mark the letter A,B,C,or D on your answer sheet to indicate the correct word for each of the blanks.        

The shark is a meat-eating fish and one of the most feared animals of the   sea.Scientists……(16) about 250 species of fish as sharks. These fish live in oceans……….(17) the world, but they are most common in warm seas. Sharks………..(18)  greatly in size and habits. Whale sharks, the largest kind of shark, may grow 60 feet long.A whale shark weighs up to 15 short tons, more thantwice ……(19) much as an African elephant. The smallest sharks may ………….(20) only 4 inches long and weigh less than 1 ounce. Some kinds of sharks live in the depths of the ocean, but …….(21) are found near the surface.Some species live in coastal waters, but others………….(22) far out at sea.A few species can even live in ……..(23) water.

          All sharks are carnivores (meat-eaters).Most of them eat……………..(24) fish, including other sharks. A shark’s only natural enemy is a larger shark. Sharks eat their prey whole, or they tear off large chunks of flesh. They also …………(25) on dead or dying animals.

Question 16/ A.classify
B.study
C.research
D.search

Question 17/ A.on
B.through
C.throughout
D.in

Question 18/ A.stand
B.grow
C.differ
D.vare
Question 19/ A.so
B.as
C.more
D.much

Question 20/ A.report
B.measure
C.notice
D.see

Question 21/ A.others
B.the other
C.another
D.other

Question 22/ A.will dwall
B.swim
C.go
D.dwell
Question 23/ A.warm
B.fresh
C.hot
D.salt

Question 24/ A.deadly
B.swimming
C.live
D.life

Question 25 /A.live
B.drink
C.feed
D.depend

Read the following passage and mark the letter A,B,C, or D on your answer sheet to indicate the correct answer to each of the questions 

                Long before they can actually speak, babies pay special attention to the speech they hear around them.Within the first month of their lives, babies’responses to the sound of the human voice will be different from their responses to other sorts of auditory stimuli.

                They will stop crying when they hear a person talking, but not if they hear a bell or the sound of a rattle.At first, the sounds that an infant notices might be only those words that receive the heaviest emphasis and that often occur at the ends of utterances.By the time they are six or seven weeks old, babies can detect the difference between syllables pronounced with rising and falling inflections.Very soon, these differences in adult stress and intonation can influence babies’ emotional states and behavior.Long before they develop actual language comprehension, babies can sense when an adult is playful or angry, attempting to initiate or terminate new behavior, and so on, merely on the basis of cues such as the rate, volume, and melody of adult speech.

               Adults make it as easy as they can for babies to pick up a language by exaggerating such cues.One researcher observed babies and their mothers in six diverse cultures and found that, in all six languages, the mothers used simplified syntax , short utterances and nonsense sounds, and transformed certain sounds into baby talk.Other investigators have noted that when mothers talk to babies who are only a few months old, they exaggerate the pitch , loudness, and intensity of their words.They also exaggerate their facial expressions, hold vowels longer, and emphasize certain words.

               More significant for language development than their response to general intonation is observation that tiny babies can make relatively fine distinctions between speech sounds other words, babies enter the world with the ability to make precisely those perceptual discriminations that are necessary if they are to acquire aural language.

             Babies obviously derive pleasure from sound input, too: even as young as nine months they will listen to songs or stories, although the words themselves are beyond their understanding.For babies, language is a sensory-motor delight rather than the route to prosaic meaning that it often is for adults.

Question 26/ What does the passage mainly discuss?

A.How babies differentiate between the sound of the human voice and other sounds

B.The differences between a baby’s and an adult’s ability to comprehend language

C.How babies perceive and respond to the human voice in their earliest stages of language development

D. The response of babies to sounds other than the human voice

Question 27/ why does the author mention a bell and a rattle in lines 4-5?

A.To contrast the reactions of babies to human and nonhuman sounds

B.To give examples of sounds that will cause a baby to cry

C.To explain how babies distinguish between different nonhuman sounds

D.To give examples of typical toys that babies do not like.

Question 28/ Why does the author mention syllables pronounced with rising and falling inflections ?

A.To demonstrate how difficult it is for babies to interpret emotions

B.To illustrate that a six-week-old baby can already distinguish some language differences

C.To provide an example of ways adults speak to babies

D. To give a reason for babies’difficulty in distinguishing one adult from another

Question 29/ The word “ diverse” in bold is closest in meaning to

A. surrounding             B. divided                                C. different                    D. stimulating

Question 30/ The word “noted” in bold is closest in meaning to

A.theorized                   B.requested                           C.disagreed                     D.observed
Question 31/ The passage mentions all of the following as ways adults modify their speech when talking to babies EXCEPT

A. giving all words equal emphasis                           B.speaking with shorter sentences

C.speaking more loudly than normal                             D.using meaningless sounds

Question 32/ The word” emphasize” in bold is closest in meaning to 

A. stress                        B. repeat                                   C.explain                             D.leave out

Question 33/ Which of the following can be inferred about the findings described in paragraphs 2 

A.Babies who are exposed to more than one language can speak earlier than babies exposed to a single language.

B.Mothers from different cultures speak to their babies in similar ways.

C.Babies ignore facial expressions in comprehending aural language.

D.The mothers observed by the researchers were consciously teaching their babies to speak.

Question 34/ What point does the author make to illustrate that babies are born with the ability to acquire language?

A.Babies begin to understand words in songs.

B. Babies exaggerate their own sounds and expressions.

C. Babies are more sensitive to sounds than are adults.

D. Babies notice even minor differences between speech sounds.

Question 35/ According to the author, why do babies listen to songs and stories, even though they cannot understand them?

A. They understand the rhythm. 

B. They enjoy the sound.

C. They can remember them easily.

D. They focus on the meanings of their parents’ words

Mark the letter A,B,C,or D on your answer sheet to show the underlined part that needs correction.
Question 36/. Little house on the Prairie, a successful television program, was adapted from a 

series of books by a young pioneer woman whose life was similar to that of the character 

   A                                                                     B                                   C

called by name Laura                 

              D

Question 37/ My daughter started to wash and dress her when she was only three years old.

                      A                                 B                      C              D

Question 38/ Computers  are often used to control,  adjustment, and  correct complex  

                                            A                                         B                      C

industrial operations.

      D

Question 39/ In early days , hydrochloric acid was done by heating a mixture of sodium 

                             A                                                    B              C

chloride with iron sulfate.  

                D

Question 40/ Alike most frogs, the clawed frog catches its prey with its hands
                        A        B                                  C                                         D

Mark the letter A,B,C, or D on your answer sheet to indicate the word or phrase that is OPPOSITE in meaning to the underlined part in each of the following questions.

Question 41/ Nancy concurred with her boss about the new direction the company was taking
A. disagree                     B. agree                          C. surrender      D. confess
Question 42/ No one understood why Kevin decided to revoke the agreement, but they went along with him anyway
A. cancel                  B. withdraw                           C. keep                D. revolt

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is CLOSET in meaning to the underlined part in each of the following questions.

Question 43/ A wedding is a meaningful event.

A.important
B.unimportant
C.sad
D.sorrowful

Question 44/  He devised a computer game and sold it.

A.played
B.bought
C.invented
D.divided

Question 45/ The Rev.Dr.Martin Luther King fought to put an end to racial segregation in the United States

A.integration
B.education
C.torture
D.separation
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions

Question 46/ According to Ms Thanh, the essential feature of their success in their business is the ……relationship with the other firms.

A.built-in
B.built-up
C.close-run
D.close-knit
Question 47/ Many American men agree that wives and husbands should……….in each other and share all thoughts.

A.share
B.confide
C.rely
D.discuss

Question 48/ In English school education system, schooling is …….for all English children from the age of 5 to 16.

A.optional                       B.temporary        C.reinforced
                                  D.compulsory
Question 49/ In England , English, Math and Science are …….subjects at school.

A.more
B.store
C.score
D.core

Question 50/ I can’t walk in these high-heeled boots. I keep…………………………………

A.falling off
B.falling back
C.falling over
D.falling out

Question 51/ Old people are often looked ………by their children when they get older.

A.for
B.up
C.after
D.into

Question 52/ It was not until 1915 ……..the cinema became an industry.

A.what
B.that
C.when
D.how

Question 53/ Yuri Gagarin was the first person ………into space.

A.travelling
B.has travelled
C.to travel
D.travelled

Question 54/ Like everyone else, Sue has her ……….of Course but on the whole , she ‘s quite satisfied with life.

A.ups and downs
B.ins and outs
C.safe and sound      D.odds and ends

Question 55/” Got a match ? “ “……………………”  

A. Shut up                          B. That’s O.K                C. Yes,  Here it is               D. No, I can’t 

Question 56/ A: “Let’s go out and have a drink, shall we?”      B: “Yes. _____”
      A. Go first, please                     B. I’ll follow you            C. After you, Sir    D. We shall

Question 57/ …….pollution control measures are expensive , many industries hesitate to adopt them.

A. Although
B. However
C. Because   D. On account of 

Question 58/. On the way to Boston, we passed through a small village with an old church. We stopped to visit ……….It  was a beautiful building.

    A. a church            B. church                    C. the church                     D. churches

Question 59/ The Statue of Liberty is probably ………sight in New York City.

A. most famous
B. the most famous
C. a more famous D. the more famous

Question 60/ I ‘d rather you ….too much time surfing the Internet.

A. not spend
B. not to spend
C. didn’t spend
D. don’t spend
Question 61/ ….., it would be in hospital because of all the damaging effects of environmental pollution.

A. If the earth is a human                                  B. If the earth were a human being

C. Should the earth were a human being          D. If the earth had been a human being

Question 62/ Not only ……much bigger than any other planets , but unlike the planets, it consists completely of gaseous material.

A. Sun is                    B. the Sun, which is        C. is the Sun               D. that the Sun 

Question 63/ Did you visit the temple ? –No, we ......it, but we spent too much time shopping

A. might visit               B. could have visited    C. can’t have visited            D. needn’t visit

Question 64/ …………………are carcinogens now appears to be beyond dispute.

A. If asbestos fibers
B. Asbestos fibers

C. While asbestos fibers
D. That asbestos fibers
WRITING 

Part I. Finish each of the following sentences in such a way that it means the same as the sentence printed before it.

Question 65/ “ Who has taken my umbrella?” asked Lucy.

Lucy wanted ...............................................

(to know who had taken her umbrella.)

Question 66/ “ You are wearing a beautiful dress today!” Susan said to Mary

Susan paid ...............................................................................

(Mary a compliment on her ( beautiful) dress (that) day)

Question 67/ What the politician was saying fell on deaf ears last night.

No one .......................................................................

(listened to what the politician was saying last night

Or  No one paid attention to / took notice of what the politicians wa saying last night)

Question 68/ It won’t be possible for me to come back home this week because I’m too busy.

I am afraid (that)....................................................................................................

( I won’t be able to come back home this week because I’m too busy)

Question 69/ Peter is my close friend. His  father is a policeman.

Peter, whose..........................................................................................................
( father is a policeman, is my close friend.)

Part II. In about 140 words, write a paragraph about the free time activity you like best.

………………………………………………………………………………………………………………………...................

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
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SECTION A ( 8 points) 

Mark the letter A,B,C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of of the following questions.
Question 1. A.encourage             B.ploughing                         C. doubtful                 D. astound

Question 2. A.thrifty                     B.profitable                          C.punctual                 D.political
Mark the letter A,B,C,or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions
Question  3. A.corporation           B.recovery                            C.relationship            D.enthusiast

Question  4. A.handle                  B.gesture                              C.retain                     D.famine

Question  5. A.reflection              B.division                               C.interview               D.remember
Read the following passage and mark the letter A,B,C,or D on your answer sheet to indicate the correct word for each of the blanks.   

         The U.S manned space flight program of the 1960s and 1970s consisted of three distinct phases: Mercury, Gemini , and Apollo. Each of these distinct phases of the space flight program served a very different purpose.

          Mercury was the first phase of the manned space flight program. Its purpose was to get a person into orbital flight. The tiny Mercury capsule carried only a single astronaut. Alan Shepherd and Virgil Grissom piloted the first two mercury flights, which were suborbital flights, in 1961. John Glenn, in the next Mercury flight, orbited the Earth in 1962. Three more Mercury flights followed.

          The next phase of the manned space flight program was Gemini. The purpose of the ten crewed Gemini , for example, carried out training in orbital clocking techniques and tests of the effects of longterm weighlessness on astronauts. Unlike mercury capsules , which held only one astronaut, the Gemini capsules were designed to carry two astronauts.

         The Apollo flights followed the Gemini flights with the goal of landing astronauts on the moon. The Apollo spacecraft consisted of three modules. The command module carried three astronauts to and from the moon , the service module  housed the propulsion and environmental systems, and the  lunar module separated from the command module to land two astronauts on the moon. There were seventeen total Apollo flights, of which the first six carried no crew. The seventh through tenth Apollo flights(1968-1969) circumnavigated the moon without landing and then returned to Earth. The next seven Apollo flights ( 1969-1972) were intended to land on the moon. All of them did, except Apollo 13, which developed serious problems and had to abort the intended landing but still managed to return safely to Earth.

Question 6/ The subject of this passage is ………..

  A. lunar landing                                                          B. the Gemini flights     

  C. phases of the U.S space flight program             D. space exploration through the decades

Question 7/ According to the passage , the Mercury flights………………

   A. were all suborbital flights                        B. did not include any orbital flights

   C. were all orbital flights                             D. included suborbital and orbital flights

Question 8/ It is implied in the passage that there were how many total mercury flights?

   A. Three                         B. Four                       C. Five                       D. six
Question 9/ The purpose of the Gemini flights was ………………

   A. to prepare for longer space flights                   B. to attempt suborbital flights

   C. to circumnavigate the moon                                 D. to land on the moon

Question 10/ It can be inferred from the passage that how many of the Apollo flights carried astronauts?

    A. 6                     B. 11                                  C. 16                           D. 17 

Question 11/ The word “ circumnavigated” is closest in meaning to

   A. traveled around     B. returned from          C. studied about     D. headed toward tiếng về phía trước 

Question 12/ It can be determined from the passage that how many Apollo flights landed on the moon?

    A. 1                      B. 6                                   C. 11                           D. 17

Question 13/ The word “ abort” in paragraph 4 is closest in meaning to 

    A. postpone               B. schedule                    C. try                       D. stop
Question 14/ It can be determined from the passage that the manned space flight program discussed in the passage lasted for

    A. two years               B. just over 6 years        C. almost 12 years             D. three decades

Question 15/ Which paragraph that describes the flights that carried one astronaut each

     A. 1                            B. 2                                      C. 3                           D. 4

Read the following passage and mark the letter A,B,C,or D on your answer sheet to indicate the correct word for each of the blanks.   
     Why do people like to chew gum? Some people say they like the taste (16)........say they can think better if they chew gum. Some people chew it when they have some boring work to (17)...............Others chew gum when they are nervous.Gum is a (18).............of things. For many years gum companies made gum from chicle. Chicle is a natural gum from a tree in Mexico and Central America. Now companies use plastic and rubber made from petroleum (19)............of chicle.Gum must be soft (20)............. you can chew it. A softener keeps it soft. The gum company makes the softener from vegetable oil. A sweetener makes the gum sweet. The sweetener is usually sugar. Then the company (21)...............   the flavor.Thomas Adams made the first gum from chicle in 1836(22). ............., chewing gum was not new. The Greeks chewed gum from a tree (23)............2,000 years ago. Mayan Indians in Mexico chewed chicle. Indians in the Northeastern United States taught Europeans to chew gum from a tree there.  People first made bubble gum in 1928. Children like to (24)................ bubble with bubble gum. Some university students do (25)..............

Question 16/  A. The other
           B. Others

C. The others
  
 D. Other

Question 17/ A. make


B. get


C. Do


D. carry

Question 18/ A. mixture
           B. roll


C. fix


D. connection

Question 19/ A. aside


B. apart

C. inside

D. instead

Question 20/  A. so that

B. then


C. for


D. that

Question 21/ A. puts


B. places

C. adds

D. fits

Question 22/ A. However
           B. More

C. But


D. Though

Question 23/ A. more


B. over

C. above

D. than

Question 24/ A.  turn


B. set

           C. pass


D. blow

Question 25/ A. so

           B. too


C. then


D. same

Read the following passage and mark the letter A,B,C, or D on your answer sheet to indicate the correct answer to each of the questions 
          The goal of Internet-base encyclopedia Wikipedia is to give everyone the planet access to information. Like other encyclopedias, Wikipedia contains lot of information: more than 2.5 million articles in 200 different languages covering just about every subject. Unlike other encyclopedias, however, Wikipedia is not written by experts, but by ordinary people. These writers are not paid and their names are not published. They contribute to Wikipedia simply because they want to share their knowledge.

             Encyclopedias began in ancient times as collections of writing about all aspects of human knowledge. The word itself comes from ancient Greek, and means “a complete general education”. Real popularity for encyclopedias came in the nineteeth century in Europe , and the United States, with the publication of encyclopedias written for ordinary readers. With the invention of the CD-ROM, the same amount of information could be put on a few computer discs. Then with the Internet, it became possible to create an online encyclopedia that could be constantly updated , like Microsoft’s Encarta. However, even Internet-based encyclopedias like Encarta were written by paid experts.At first , Wikipedia, the Brainchild of Jimmy Wales, a businessman in Chicago, was not so different from these. In 2001, he had the idea for an Internet-based encyclopedia that would provide informationquickly and easily to everyone. Furthermore, that information would be available free , unlike other Internet encyclopedias at that time.

            But Wales., like everyone else, believed that people with special knowledge were needed to write the articles , and so he began by hiring experts. He soon changed his approach; however, as it took them a long time to finish their work. He decided to open up the encyclopedia in a radical new way, so that everyone would have access not only to the information, but also to the process of putting this information online. To do this, he used what is known as “ Wiki” software( from the Hawaiian word for “fast”, which allows users to create or alter content on web page. The system is very simple: When you open the web site, you can simply search for information or you can log on to become a writer or editor of articles. If you find an article that interests you-about your hometown, for example-you can correct it or expand it. This process goes on until no one is interested in making any more changes.

Question 26/ Wikipedia is a(n)……………………………

  A. book
B. journal
C. article
D. dictionary
Question 27/ Wikipedia is written by…………………………

  A. paid writers
B. millionaires
C. normal people
D. world experts

Question 28/ The phrase” these writers” in the first P refers to ………………….

  A. ordinary readers      
B. ordinary people
C. encyclopedia experts
D. every subject

Question 29/ The phrase “ the word” in the second P refers to………………….

  A. knowledge
B. encyclopedia
C. writing
D. collection

Question 30/ Microsoft’s Encarta is cited in the passage as an example of …………….

  A.CD_ROM dictionary
B. printed encyclopedia 

  C. online encyclopedia      D. updateable online encyclopedia
Question 31/ The word” brainchild” in the third P means…………………

  A. born
B. child
C. product
D. father

Question 32/ The word “ approach” in the third P means………………

   A. idea
B. time
C. method
D. writing

Question 33/ The user of Wikipedia can do all of the following EXCEPT……….

   A. have access to information 
B. abolish the website
   C. modify information
                               D. edit information

Question 34/ We can say that Jimmy Wales……………………

A. became very famous after the formation of Wikipedia B. is the father if Wikipedia
C. made a great profit from Wikipedia                              D. decides who can use Wikipedia

Question 35 / Wiki software enables……………………

A. exchanging article 
B. a purchase of information
C. limited access
D. editing

Mark the letter A,B,C,or D on your answer sheet to show the underlined part that needs correction.

Question 36.Most country music songs are deeply personal and deal with themes of love, lonely, and 

                                       A                                      B                          C                                     D

separation.

Question 37 Foreign students who are doing a decision about which school to attend may not know 

                                                             A                                 B                             C

exactly where the choices are located.

                              D

Question 38 The director felt badly about not giving mary the position that she had sought with his 

                                                 A                    B                                       C                D

company.  

Question 39 James’s counselor recommended that he takes a foreign language in his freshman year 


             A
      B

instead of waiting until the  following year.


C
D

Question 40 Despite the roadblock, the police allowed us enter the restricted area to search for our friends.

              A                                                                   B
            C
         D
Mark the letter A,B,C, or D on your answer sheet to indicate the word or phrase that is OPPOSITE in meaning to the underlined part in each of the following questions.
Question 41 The new laws to conserve wildlife in the area will come into force next month.
       A. protect
B. eliminate
        C. pollute
            
D. destroy
Question 42 There was a long period without rain in the countryside last year so the harvest was poor.

       A.famine                     B.flood                  C.drought                             D.epidemic

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is CLOSET in meaning to the underlined part in each of the following questions.

Question 43. Oil, gas and wood are kinds of fuel.

   A. something to burn for heat
B. something to make cars from

   C. something to build ships from
D. something to boil

Question 44 Identical twins are frequently inseparable ; they even seem to think alike.

  A. not able to be distinguished
B. not able to be understood

  C. not able to be parted

D. not able to be believed

Question 45 It doesn’t matter what you say to her I promise you, she’s got a very thick skin.

  A. she’s not affected by criticism
 B. she’s not interested in criticsm

  C. she’s not devoted to criticism
 D. she’s not governed by criticism
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions

Question 46.In the end, they fell……………….love and lived happily ever after.

  A.out of                       B.in                                         C.for                           D.with

Question 47.During the show, a crazy fan jumped………….the stage and kissed the singer.

  A.onto                          B.in                                         C.off                           D.out of

Question 48 I can’t ………….your loud music any longer.

  A.put out                      B.keep up with                       C.hold onto                 D.put up with

Question 49 .Certainly man must …………the future ,and find ways of providing for his needs.

  A.look to                     B.look for                                C. look up                  D. look after

Question 50.WHO’objective is the …………..by all people of the highest possible level of health.

  A.attainment                 B.approach                            C.advance                   D.acquisition

Question 51  Leave the meat in the oven until it …………………brown.

  A.turns                            B.colours                               C.changes                   D.cooks

Question 52 The two pictures are very …………, but if you look carefully, you’ll notice one or two differences.

  A.identical                   B.equal                                    C.same                         D.alike

Question 53/ It is probably impossible for the life to ever exist on Venus ………its intense surface heat. 


 A. because
B. in spite of
C. although    D. because of 

Note : Venus ¨sao kim

Question 54/ The Titanic , a British steamer, sank in ………….North Atlantic after hitting ……………iceberg. 

  A. no article-an
B. no article-no article
C. a-an
D. the –an
Question 55/.  The more effect you put in this project, ________________. 

  A. the more satisfying you are         B. the more satisfied are the results 

  C. the more satisfied the results are       D. the more satisfying the results are 

Question 56/ …….we invested in telecommunication industry, we would be rich by now.

   A. Were              B. Should                         C. Will                                D. Had

Question 57/   If we leave now for our trip, we can drive half the distance before we stop _______lunch.

 A. for having
B. having had
C. having
D. to have
Question 58/ Not until the train pulled into the station, …………..that her coat had gone.

A. Debbie found that B. did Debbie find that     C. Debbie had found that  D. Did Debbie found that

Question 59/ Jean was working hard all day yesterday; she ........very tired. 

   A. must be
B. ought to be
C. should have been
D. must have been

Question 60  In order to grow vegetables properly , gardeners must know……..

A. What the requirements for each vegetable are  

B.that the requirements for each vegetable

C. what are each vegetable’s requirements


D. that is required by each vegetable

Question 61 ……….the breakthrough( khám phá) in genetics ( di truyền học)will lead to a cure for cancer.

   A. It is believed that                                B. Many scientists       

   C. Scientists are reported to have made                  D. it is widely announced that

Question 62 If only he ......told us the truth in the first place , things wouldn’t have gone wrong.

    A. had
B. has
C. would have
D. should have

Question 63 Tom “ Let’s go to Floria on spring break” Mary “……………………………….”

   A. You’re putting me on !    B. No way !            C. Congratulations!         D. Cheer up !

Question 64  “ Do you like ice cream?”      “……………………………….”

   A. You are awful             B. You looks down        C. Let’s enjoy                  D. I’ll say                   

SECTION B (2 points) 
Part I. Finish each of the following sentences in such a way that it means the same as the sentence printed before it.
Question 1 We must do something about the problem even if it costs a lot.


>Costly .........................................................................................................................

(as it may be, we must do something about the problem.

Costly though it may be, we must do something about the problem.)

Question 2  "If I were in your shoes, I would try to finish the pre-lab report before carrying out the experiment" said the professor to his research student


>The profressor advised..................................................................................


(The profressor advised his research student to finish the pre-lab report before carrying out the experiment.)

Question 3 /It is thought that the prisoner escaped by climping over the wall.

>The prisoner……………………………………………………….................................

(The prisoner is thought to have escaped by climping over the wall)
Question  4/.When the unemployment rate is high, the crime rate is usually also high

>The higher................................................................................................................

(The higher the unemployment rate is, the higher the crime rate is.)

Question 5/ It’s a pity you didn’t tell us about this.

> I wish .............................................................................................................

(I wish you had told us about this.)

Part II. In about 140 words, write a paragraph to discuss the advantages of playing sports ( or participating in physical exercises)

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
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Môn : Tiếng Anh – 90 phút
 Mark the letter A, B, C or D on your answer sheet to indicate the word whose underlined part is pronounced differently from that of the rest in each of the following questions.
Question 1:      A. loved
B. appeared
C. agreed
 D. coughed
Question 2:      A. thereupon
   B. thrill
                    C. threesome
         D. throne.

Mark the letter A, B, C or D on your answer sheet to indicate the word that differs from the rest in  the position of the main the stress in the following questions.
Question 3:     A. television
            B. information               C. economic
          D. engineer

Question 4:     A. achievement         B. argument
                  C. confinement          D. involvement

Question 5:     A. teacher
            B. prefer
                  C. offer
                     D. flower

 Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 6: By the time you come here tomorrow, the work _______.

A. will have been finishing                                      B. will be finishing 


C. will have been finished                                        D. will be finished

Question 7: “Would you like to come to my birthday party, Sarha?” asked Frederic.

A. Frederic invited Sarha to his birthday party. 

       B. Frederic asked if Sarha was able to come to his birthday party.


C. Frederic asked Sarha if she likes his brithday party or not. 

       D. Frederic reminded Sarha of his coming birthday party.

Question 8: When Mr. Pike was young, he was keen ______ playing football.


A. of  
B. on
C. at
D. in 

Question 9: John ____ this task yesterday morning, but I did it for him. He owes me a  thank-you.  

         A. must have completed     


              B. should have completed    

         C. could have completed     


              D. may have completed  

Question 10: If you hadn't stayed up so late last night, you ______ sleepy now. 

         A. wouldn't have felt 
B. wouldn't feel 
        C. wouldn't fell 
     D. wouldn't have fallen 

Question 11: It gets _______ to understand what the professor has explained.

    A. the more difficult
               B. difficult more and more

    C. more difficult than
               D. more and more difficult

Question 12:  _____her severe pain, she tried to walk to the auditorium to attend the lecture.

        A. Although                 B. Despite 

         C. Though
     
     D. In spite

Question 13:  During our stay in Venice, we bought a ________ bottle.

        A. glass lovely perfume
                                   B. lovely glass perfume  

        C. lovely perfume glass                                            D. glass perfume lovely

Question 14: “Why don’t you go to the zoo?” – “____________ .”    

        A.  That’s a good idea.



  B.  Because we don’t have enough money.    

        C.  I couldn’t agree more. 
                                   D.  Yes, I’d love to.

Question 15: The government have tried to____ the price of petro, but they failed.

        A. get over

B. bring on

          C. bring down
                D. put in
Question 16: There is always_____ traffic in the city centre in the rush hour.

      A. full


B. strong


C. heavy

     D. big

Question 17: _________my complaint to the manager, the waiter was sacked.

     A. Because of

B. Thanks to


C. Despite

     D. Without

Question 18: Don’t worry. They will do the job as_____ as possible.

     A. economically

B. economical

C. economic

     D. economy

Question 19: David: “Thanks for your help, Mary”.      Mary: “__________”

     A. Wish you

B. It’s my pleasure

C. Never remind me      D. With all my heart

Question 20: She had only just begun to speak when people started interrupting.


A. Hardly she had begun to speak when people started interrupting.


B. She hardly had begun to speak when people started interrupting.


C. Hardly had she begun to speak when people started interrupting.


D. She hadn’t begun to speak when people started interrupting.

Question 21: My friends didn’t take part in the game. I wish................................................

A. my friends took part in the game 

           B. my friends had taken part in the game

C. my friends would take part in the game 
           D. my friends did  take part in the game

Question 22:  It is necessary that children __________ of their old parents.

 A. takes care
     B. to take care
            C. take care
                D. took care

Question 23:  The conference was organized for all of the _______ in the city .

     A . history teachers        B. historical teachers          C . historic teachers        D . historian teachers 

Question 24: Did she get the better of you in the argument?

      A. try to beat
                                                       B. gain a disadvantage over


      C. gain an advantage over
                                 D. try to be better than

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is CLOSEST in meaning to the underlined part in each of the followings.  
Question 25:  Few businesses are flourishing in the present economic climate.

 A. taking off                    B. setting up                      C. growing well
       D. closing down

Question 26:  The dog saw his reflection in the pool of water .
      A. imagination
    B. bone
            C. leash
                 D. image

Question 27:  At times, I look at him and wonder what is going on in his mind.

 A. sometimes
    B. always
            C. hardly
                 D. never

Question 28: You ought to send two hours as a minimum in the fresh air every day.

     A. at most

           B. at all

           C. at least

       D. at ease

Question 29:  He seems to make the same mistake over and over again .

     A. for good

B. in vain

           C. by the way

       D. repeatedly

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction in each of the following questions.
Question 30: Cool temperatures, shade, moist, and the presence of dead organic material provide 

                                                                A                                         B                                  C 

the ideal living conditions for mushrooms.                                                                                              

                             D

Question 31: The Concord can fly across the Atlantic without refuelling and carrying 11 tons 

                                                         A                                           B                   C

of freight 
       D

Question 32: Financial considerations play an important partly in the choice of a college.

                       A                                     B                           C                            D

Question 33:  I prefer to watch a live concert to listening to music on the radio.


                    A


B

    C
                     D


Question 34:  Nobody had bothered to plant new ones, do they?

                         A                 B                                 C       D

Choose the word that best fits each gap of the passage:

To many people, smoking is not just a pleasure, it is also an (35)_________. They need it, depend on it and can’t stop it. If they haven’t smoked for some hours, they feel a (36)________ for a cigarette. They often (37)_______ which means they light another cigarette immediately after they have (38)_______ out the one before.

Smoking is often considered (39)_______, since many people don’t like the (40)_______ of cigarettes or the sight of the smoker’s (41)_______ fingers or ashtray full of cigarette – ends. Above all, smoking is harmful to health and in many countries a (42)_______ is printed on every (43)_______of cigarettes. Scientists have proved that there is a link between smoking and a disease which can be (44)_______, cancer.

Question 35:  A attraction 

B addition 

C addiction 

D admiration

Question 36:  A likeness 

B craving 

C like 


D desire

Question 37:  A over-smoke 
  B self-smoke 
C chain-smoke 
D non-smoke

Question 38:  A thought 

B made 

C put 


D given

Question 39:  A militant 

B antisocial 

C illegal 

D anti-pollutant

Question 40:  A odour 

B smell 

C taste 

D flavour

Question 41:  A stained 

B dirty 

C dusty 

D spotted

Question 42:  A saying 

B signal 

C sign 

D warning

Question 43:  A pack 

B packing 

C packet 

D backpack

Question 44:  A fatal 

B hard 

C immoral 

D perilous

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each the questions.

An air pollutant is defined as a compound added directly or indirectly by human to the atmosphere in such quantities as to affect humans, animals, vegetation, or materials adversely. Air pollution requires a very flexible definition that permits continuous change. When the first air pollution laws were established in England in the fourteenth century, air pollutants were limited to compounds that could be seen or smelled – a far cry from the extensive list of  harmful substances known today. As technology has developed  and knowledge of the health aspects of various chemicals has increased, the list of air pollutants has lengthened. In the future, even water vapor might be considered an air pollutant under certain conditions.

Many of the more important air pollutants, such as sulfur oxides, carbon monoxide, and nitrogen oxides, are found in nature. As the Earth developed, the concentration of these pollutants was  altered by various chemical reactions; they became components in biogeochemical cycles. These serve as an air purification scheme by allowing the compounds to move from the air to the water or soil. On  a global basic, nature’s output of these compounds dwarfs that resulting from human activities.

However, human production usually occurs in a localized area, such as a city. In such a region, human output may be dominant and may temporarily overload the natural purification scheme of the cycles. The result is an increased concentration of noxious chemicals in the air. The concentrations at which the adverse effects appear will be greater than the concentrations that the  pollutants would have in the absence of human activities. The actual concentration need not be large for a substance to be a pollutant; in fact, the numerical value tells us little until we know how much of an increase this represents over the concentration that would occur naturally in the area.  For example, sulfur dioxide has detectable health effects at 0.08 parts per million (ppm), which is about 400 times its natural level. Carbon monoxide, however, has a natural level of 0.1 ppm and is not usually a pollutant until its level reaches about 15ppm.

Question 45: What does the passage mainly discuss?

A. The economic impact of air pollution

B. What constitutes an air pollutant.

C. How much harm air pollutants can cause.
D. The effects of compounds added to the atmosphere.

Question 46: The word “adversely” in the first paragraph is closest in meaning to              .

A. Negatively   
B. quickly   

C. admittedly  

D. considerably

Question 47: It can be inferred from the first paragraph that                .

A. water vapor is an air pollutant in localized areas   B. most air pollutants today can be seen or smelled

C. the definition of air pollution will to change
   D. a substance becomes an air pollutant only in cities

Question 48: The word “These” in the second paragraph is closest in meaning to              .

A. the various chemical reactionsB. the pollutants from the developing Earth

C. the compounds moved to the water or soilD. the components in biogeochemical cycles

Question 49: For which of the following reasons can natural pollutants play an important role in controlling air pollution?

A. They function as part of a purification process.

B. They occur in greater quantities than other pollutants.

C. They are less harmful to living beings than other pollutants.

D. They have existed since the Earth developed.

Question 50: According to the passage, human-generated air pollution in localized regions           .

A. can be dwarfed by nature’s output of pollutants

B. can overwhelm the natural system that removes pollutants

C. will damage areas outside of the localized regions

D. will react harmfully with natural pollutants

Question 51: The word “localized” in the third paragraph is closest in meaning to              .


A. specified

B. circled

C. surrounded
D. encircled

Question 52: According to the passage, the numerical value of the concentration level of a substance is only useful if          .

A. the other substances in the area are known     B. it is in a localized area

C. the natural level is  also known                       D. it can be calculated quickly

Question 53: The word “detectable” in the third paragraph is closest in meaning to              .


A. beneficial

B. special

C. measurable

D. separable

Question 54: Which of the following is best supported by the passage?

A. To effectively control pollution, local government should regularly review their air pollution laws.

B.One of the most important steps in preserving natural lands is to better enforce air pollution laws

C.Scientists should be consulted in order to  establish uniform limits for  all air pollutants.

D.Human activities have been effective in reducing air pollution.

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions.

     Rachel Carson was born in 1907 in Springsdale, Pennsylvania. She studied biology in college and zoology at Johns Hopkins University, where she received her master’s degree in 1933. In 1936, she was hired by the US Fish and Wildlife Service, where she worked most of her life.

     Carson’s first book, Under the Sea Wind, was published in 1941. It received excellent reviews, but sales were poor until it was reissued in 1952. In that year, she published The Sea Around Us, which provided a fascinating look beneath the ocean’s surface, emphasizing human history as well as geology and marine biology. Her imagery and language had a poetic quality. Carson consulted no less than 1,000 printed sources. She had voluminous correspondence and frequent discussions with experts in the field. However, she always realized the limitations of her non-technical readers.

    In 1962, Carson published Silence Spring, a book that sparked considerable controversy. It proved how much harm was done by the uncontrolled, reckless use of insecticides. She detailed how they poison the food supply of animals, kill birds, and contaminate human food. At that time, spokesmen for the chemical industry mounted personal attacks against Carson and issued propaganda to indicate that her findings were flawed. However, her work was vindicated by a 1963 report of the President’s Science Advisory Committee.

Question 55:  The passage mainly discusses Rachel Carson’s work

A. at college
B. at the US Fish and Wildlife Service

C. as a researcher
D. as a writer

Question 56:  According to the passage, what did Carson primarily study at Johns Hopkins University?

A. Zoology
B. Literature
C. History
D. Oceanography

Question 57:  When she published her first book, Carson was closest to the age of

A. 29
B. 26
C. 34
D. 45

Question 58:  It can be inferred from the passage that in 1952, Carson’s book Under the Sea Wind
A. became more popular than her other books
B. was outdated

C. was praised by critics
D. sold many copies

Question 59:  Which of the following was not mentioned in the passage as a source of information for The Sea Around Us

A. Printed matter
                                        B. Talks with experts


C. Letters from scientists
D. A research expedition

Question 60:  Which of the following words or phrases is least accurate in describing The Sea Around Us?

A. Poetic
B. Fascinating
C. Highly technical
D. Well researched

Question 61:  The word reckless is closest in meaning to

A. irresponsible
B. unnecessary
C. continuous
D. limited

Question 62:  According to the passage, Silent Spring is primarily 

A. a discussion of hazards insects pose to the food supply   

B. an illustration of the benefits of the chemical industry

C. a warning about the dangers of misusing insecticides      

D. an attack on the use of chemical preservatives in food

Question 63:  Which of the following is closest in meaning to the word flawed?

A. Offensive
B. Logical
C. Deceptive
D. Faulty

Question 64:  Why does the author of the passage mention the report of the President’s Science Advisory Committee?

A. To validate the chemical industry’s claims       

B. To indicate a growing government concern with the environment

C. To support Carson’s ideas                                 

D. To provide an example of government propaganda

WRITING

A. Finish each of the following sentences in such a way that it means exactly the same as the sentence before it.

Question 65: “ Be careful! Don’t do that again,” he said.

→ He warned __________________________________________________.

Question 66:  Question 1: It's the first time I've been to a flower show.

→ I haven’t ​​​​​​​​​​____________________________________________________.

Question 67:  People say that the plane of Germanwings crashed into the mountains.

→  It is __________________________________________________.

 Question 68: . It’s a pity you didn’t tell us about this.

→  I wish __________________________________________________.

Question 69: The workers only called off the strike after a new pay offer.

→ Only after __________________________________________________.

Part II. In about 120 words, write a paragraph about “ why do you learn English?”
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………ĐÁP  ÁN ĐỀ THI THỬ THPT QUỐC GIA 2016

I. PHẦN TRẮC NGHIỆM:  ( 0.25/CÂU )

	1.D
	9.B
	17.A
	25.C
	33.A
	41.A
	49.A
	57.C

	2.A
	10.A
	18.A
	26.D
	34.D
	42.D
	50.B
	58.D

	3.A
	11.D
	19.B
	27.A
	35.C
	43.C
	51.A
	59.D

	4.B
	12.B
	20.C
	28.C
	36.B
	44.A
	52.C
	60.C

	5.B
	13.B
	21.B
	29.D
	37.C
	45.B
	53.C
	61.A

	6.C
	14.A
	22.C
	30.A
	38.C
	46.A
	54.D
	62.C

	7.A
	15.C
	23.A
	31.C
	39.B
	47.C
	55.D
	63.D

	8.B
	16.C
	24.C
	32.C
	40.B
	48.D
	56.A
	64.C


II. PHẦN TỰ LUẬN: 

 A. ( 0.1/CÂU )

Question 65:  He warned me not to do that again ( He warned me against doing that again).

Question 66:  I haven’t ​​​​​​​​​​been to a flower shop before.

Question 67: It is said that the plane of Germanwings crashed into the mountains.

Question 68: I wish you had told us about this.

Question 69: Only after a new pay offer did the workers call of the strike.

ĐỀ THI THPT NĂM 2016 số 4

Môn : Tiếng Anh – 90 phút
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.

Question 1. A. missed

B. dissolved

C. watched
D. sacrificed
Question 2. A. quiet           

B. activity        
C. title          
D. quite

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

Question 3. A. purpose 

B. postpone 
C. postcard 

D. product

Question 4. A. accomplished    
B. secretary 
C. comfortable 
D. necessary

Question 5. A. cancer 

B. century 
C. prevention 
D. money

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 6. After her illness, Lam had to work hard to  _______ his classmates.

    
A. catch sight of 
 
B. keep pace with


C. get in touch with

D. make allowance for 

Question 7. ASEAN has emphasized cooperation in the "three pillars" of security, socio cultural and economic _______ in the region.

A. organization 
B. production 
C. integration    
D. establishment

Question 8. There are small _______ between British and American English.

A. differences 
B. different 

C. difference 

D. differently

Question 9. “Why are you so mad?” “You ___ me you weren’t coming to dinner. I waited for you for two hours.”


A. should tell

B. should have told

C. should told
D. should had told

Question 10. The city _____ at one time prosperous, for it enjoyed a high level of civilization. 

A. must have been 
B. can have been
C. may have been 

D. was 

Question 11.The girl __________ design had been chosen stepped to the platform to receive the award.


A. whose                      
 B. whom 

C. that

D. which

Question 12. She was sad because he was rude  …………….. her.

A. of                     
 B. on 

C. to

D. for

Question 13. _______! I have heard of your success in the new project.

A. Congratulations

B. Congratulating  
C. Congratulate
D. Congratulation

Question 14.The _____  things are produced, the ______ prices are.


A. more / cheaper
B. most / cheapest



C. much / cheap
D. many / cheaper

Question 15.Travelling helps people get a lot of _____. 

A. knowing

B. knowledge
C. acknowledge

D. knowledges

Question 16. I knew they were talking about me .................they stopped when I entered the room.  


A. because 

B. so that 

C. despite 
D. therefore

Question 17. Blue ….. you. You should wear it more often

A. goes  
B.  matches 

C. fits    

D.suits

Question 18. My father hasn’t had much ……. with my family since he moved to New York.

a. business  

B. contact  

C. meeting  
D. connection

Question 19. …… he arrived at the bus stop when the bus came.

A. No longer has          B. No sooner had 

C.Hardly had  
D. Not until had

Question 20. The referee ………….. the coin to decide which team would kick the ball first.

A. caught       B.  threw

C. cast


D.tossed

Question 21. Tommy and his classmates weren’t allowed _______ a campfire there for fear of a forest fire.

A. make           B. to make          C. be made         D. to making

Question 22. She doesn't understand ................. I am saying.

A. what 
B. that 
C. whose 
D. where 

Question 23. It is raining outside, and Tom brought his umbrella with him …………… he wouldn’t get wet.

A. so as to 

B. in order 

C. so that 
D. in order to

Question 24. Visitors to the local museum are mostly attracted by ______ rocking chair.

           A. a wooden old beautiful European
B. a beautiful old European wooden

      
C. a wooden beautiful old European
D. an old beautiful wooden European

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is CLOSEST in meaning to the underlined part in each of the following questions.

Question 25. A special exhibition of Indian art will be opened at the National Museum next month.A. painting

B. programme    
C.music  
D.show

Question 26. Traffic began to flow normally again after the accident.

A. with the same speed    

B.  in the usual or ordinary way  

C. repeatedly in different modes  
D.strangely and irregularly

Question 27. Don’t be concerned about your mother’s illness; she’ll recover soon.

A. surprised at
 
B. worried about  
C. embarrassed at    
D.  angry with

Question 28. The crew divided the life preservers among the twenty terrified passengers as the ship began to sink.

Exhausted
surprised
frightened

excited

Question 29. My mom is always bad-tempered when I leave my room untidy.

A. feeling embarrassed

B.talking too much


C. very happy and satisfied

D. easy annoyed or irritated

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction.

Question 30. Aloha is a Hawaiian word meaning ‘love’, that can be used to say hello or goodbye.

                  A                                B                     C                                         D

Question 31. Higher general education is based on theoretical expertise and might 

                                                   A                                 B

be contrasted with higher vocational education, which concentrating 

                  C                                                                               D

on both practice and theory. 

Question 32. Working  provide people with personal satisfaction as well as money.

                            A             B                    C                                            D

Question 33.  Every student who majors in English are ready to participate in the oratorical contest.

           A                              B             C                      D 

Question 34. When I went shopping , I saw a man to drive his car onto the sidewalk.

          A                   B                                                    C                  D

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word for each of the blanks from 35 to 44.
The University of Oxford, informally called "Oxford University", or simply "Oxford", (35) ______ in the city of Oxford, in England, is (36) ______ oldest university in the English-speaking world. It is also considered as one of the world's leading (37) ______ institutions. The university traces, its roots back to at least the end of the 11th century, (38) ______ the exact date of foundation remains unclear. Academically, Oxford is consistently ranked in the world's top ten universities. The University is also open (39) ______ overseas students, primarily from American universities, who may (40) _____ in study abroad programs during the summer months for more than a century, it has served as the home of the Rhodes Scholarship, (41) ______ brings highly accomplished students from a number of countries to study at Oxford as (42) ______ The University of Oxford is also a place where many talented leaders from all over the world used to study. Twenty-five British Prime Ministers attended Oxford, including Margaret Thatcher and Tony Blair. At (43) ______ 25 other international leaders have been educated at Oxford, and this number includes King Harald V of Norway and King Abdullah II of Jordan. Bill Clinton is the first American President to attend Oxford. Forty-seven Nobel (44) __ winners have studied or taught at Oxford.

Question 35. A. put 


B. placed 

C. located 

D. stood

Question 36. A. a 


B. an  


C. the 


D. Ø

Question 37 A. learning 

B. academic 

C graduating 

D. scholar

Question 38. A although 

B. because 

C. since 

D. if

Question 39. A. to 


B. for 


C from 

D. up

Question 40 A. write 


B. name 

C. enroll 

D. require

Question 41. A. that 


B. where 

C. whose 

D. which

Question 42. A. postgraduates 
 B. postgraduated  
C. postgraduation 
D. postgraduating

Question 43. A last 


B. least 

C. late 


D. lately

Question 44. A. present 

B. gift 


C. medal 

D. prize

Read the following passage on climate change, and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 45 to 54.

  Experts in climatology and other scientists are becoming extremely concerned about the changes to our climate which are taking place. Admittedly, climate changes have occurred on our planet before. For example, there have been several ice ages or glacial periods.

   These climatic changes, however, were different from the modern ones in that they occurred

gradually and, as far as we know, naturally. The changes currently being monitored are said to be the result not of natural causes, but of human activity. Furthermore, the rate of change is becoming alarmingly rapid.

   The major problem is that the planet appears to be warming up. According to some experts, this warming process, known as global warming, is occurring at a rate unprecedented in the last 10,000 years. The implications for the planet are very serious. Rising global temperatures could give rise to such ecological disasters as extremely high increases in the incidence of flooding and of droughts.These in turn could have a harmful effect on agriculture.

      It is thought that this unusual warming of the Earth has been caused by so-called greenhouse gases,such as carbon dioxide, being emitted into the atmosphere by car engines and modern industrial processes, for example. Such gases not only add to the pollution of the atmosphere, but also create agreenhouse effect, by which the heat of the sun is trapped. This leads to the warming up of the planet.

    Politicians are also concerned about climate change and there are now regular summits on thesubject, attended by representatives from around 180 of the world's industrialized countries. Of thesesummits, the most important took place in Kyoto in Japan in 1997. There it was agreed that the mostindustrialized countries would try to reduce the volume of greenhouse gas emissions and were given targets for this reduction of emissions.

  It was also suggested that more forests should be planted to create so-called sinks to absorb

greenhouse gases. At least part of the problem of rapid climate change has been caused by too drastic deforestation.
   Sadly, the targets are not being met. Even more sadly, global warnings about climate changes are often still being regarded as scaremongering.

(From Read and Understand 2 by Betty Kirkpatrick & Rebecca Mok - Learners Publishing Pte Ltd 2005)

Question 45. According to the passage, in what way did the climate changes in the ice ages differ

from the modern ones?

A. They occurred naturally over a long period of time.

B. They were fully monitored by humans.

C. They were wholly the result of human activity.

D. They were partly intended.

Question 46. The word “alarmingly” in paragraph 2 is closest in meaning to ______.

A. disapprovingly
B. worryingly
 C. surprisingly  D. disappointingly

Question 47. According to the passage, agriculture could ______.

A. give rise to many ecological disasters

B. make the global warming more serious

C. be indirectly affected by the global temperature rises

D. be directly damaged by the rises in global temperature

Question 48. Greenhouse gases cause the warming up of the Earth because they ______.

A. are emitted by car engines 
 B.trap heat from the sun

C. are unusual gases
 

 D.do not add to atmosphere pollution

Question 49. According to the passage, 1997 witnessed ______.

A.the largest number of summits on the subject of climate change

B. the highest attendance by representatives from 180 industrialised countries

C. the most important summit on climate change taking place in Kyoto, Japan

D. widespread concern about climate change 

Question 50. It can be inferred from the passage that the countries which are mainly responsible for global warming are ______.

A. developed countries
    

B. countries with the warmest climate

C. the most industrialised countries
D. developing countries

Question 51. The word “There” in paragraph 5 refers to ______.

A. regular summits on climate change

B. the world’s industrialised countries

C. the 1997 summit in Kyoto, Japan

D.the most industrialised countries

Question 52. Which of the following is NOT true, according to the passage?

A. The so-called sinks created by forests can absorb greenhouse gases.

B. Politicians are among those who are concerned about climate change.

C. The problem of rapid climate change has been caused mainly by deforestation.

D. Carbon dioxide is one of the gases that may cause the so-called greenhouse effect.

Question 53. The word “drastic” in paragraph 6 is closest in meaning to ______.

A. Severe

B. hard 
C. obvious
D. widespread

Question 54. What is probably the writer’s attitude toward global warming?

A. Optimistic 
B.  Neutral

C. Positive  D. Pessimistic

Read the following passage on climate change, and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 55 to 64.

     Culture is a word in common use with complex meanings, and is derived, like the term broadcasting, from the treatment and care of the soil and of what grows on it. It is directly related to cultivation and the adjectives cultural and cultured are part of the same verbal complex. A person of culture has identifiable attributes, among them a knowledge of and interest in the arts, literature, and music. Yet the word culture does not refer solely to such knowledge and interest nor, indeed, to education. At least from the 19th century onwards, under the influence of anthropologists and sociologists, the word culture has come to be used generally both in the singular and the plural (cultures) to refer to a whole way of life of people, including their customs, laws, conventions, and values.

       Distinctions have consequently been drawn between primitive and advanced culture and cultures, between elite and popular culture, between popular and mass culture, and most recently between national and global cultures. Distinctions have been drawn too between culture and civilization; the latter is a word derived not, like culture or agriculture, from the soil, but from the city. The two words are sometimes treated as synonymous. Yet this is misleading. While civilization and barbarism are pitted against each other in what seems to be a perpetual behavioural pattern, the use of the word culture has been strongly influenced by conceptions of evolution in the 19th century and of development in the 20th century. Cultures evolve or develop. They are not static. They have twists and turns. Styles change. So do fashions. There are cultural processes. What, for example, the word cultured means has changed substantially since the study of classical (that is, Greek and Roman) literature, philosophy, and history ceased in the 20th century to be central to school and university education. No single alternative focus emerged, although with computers has come electronic culture, affecting kinds of study, and most recently digital culture. As cultures express themselves in new forms not everything gets better or more civilized.

    The multiplicity of meanings attached to the word made and will make it difficult to define. There is no single, unproblematic definition, although many attempts have been made to establish one. The only non-problematic definitions go back to agricultural meaning (for example, cereal culture or strawberry culture) and medical meaning (for example, bacterial culture or penicillin culture). Since in anthropology and sociology we also acknowledge culture clashes, culture shock, and counter- culture, the range of reference is extremely wide.

Question 55. According to the passage, the word culture ______.

A. is related to the preparation and use of land for farming

B. comes from a source that has not been identified

C. develops from Greek and Roman literature and history

D.derives from the same root as civilization does

Question 56. It is stated in paragraph 1 that a cultured person ______.

A.has a job related to cultivation 


B. does a job relevant to education

C.takes care of the soil and what grows on it         

D.has knowledge of arts, literature, and music

Question 57. The author remarks that culture and civilization are the two words that ______.

A. share the same word formation pattern

B. have nearly the same meaning

C. are both related to agriculture and cultivation

D. do not develop from the same meaning

Question 58. It can be inferred from the passage that since the 20th century ______.

A. schools and universities have not taught classical literature, philosophy, and history

B. classical literature, philosophy, and history have been considered as core subjects

C. classical literature, philosophy, and history have not been taught as compulsory subjects

D.all schools and universities have taught classical literature, philosophy, and history

Question 59. The word “attributes” in paragraph 1 most likely means ______.

A. fields
B. qualities 
C. aspects  
D. skills

Question 60.The word “static” in paragraph 2 could best be replaced by “______”.

A. unchanged

B.balanced   C.  regular   
D.dense

Question 61. Which of the following is NOT stated in the passage?

A. Anthropology and sociology have tried to limit the references to culture.

B. Distinctions have been drawn between culture and civilization.

C. The use of the word culture has been changed since the 19th century.

D. The word culture can be used to refer to a whole way of life of people.

Question 62.  It is difficult to give the definitions of the word culture EXCEPT for its ______.

A. agricultural and medical meanings

B. philosophical and historical meanings

C. historical and figurative meanings

D. sociological and anthropological meanings

Question 63. Which of the following is NOT true about the word culture?

A. It differs from the word civilization

B. It evolves from agriculture.

C. Its use has been considerably changed.
D. It is a word that cannot be defined.

Question 64. The passage mainly discusses ______.

A. the multiplicity of meanings of the word culture

B. the distinction between culture and civilization

C. the figurative meanings of the word culture

D. the derivatives of the word culture
WRITING 

Part 1: Finish the following sentences in such a way that it means exactly the same as the sentence printed before it.

65. I haven’t eaten this kind of food before.

- This is …….

66. We didn’t go on  holiday because we didn’t have enough money.

- If we…

67. It’s a six-hour drive from London to Edingburgh. Write a paragraph about measures for protecting endangered animals. Write a paragraph about measures for protecting endangered animals.
- It takes ……

68. I don’t suppose you have change for a pound,do you?

-  Do you happen ….. 

69. “Why didn’t I get a computer before?” thought the office manager.

- The office manager wondered……. 

Part 2: In about 140 words, write a paragraph about some measures for protecting endangered animals.
ANSWERS:

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.

Question 1. A. missed

B. dissolved

C. watched
D. sacrificed
Question 2. A. quiet           

B. activity        
C. title          
D. quite

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

Question 3. A. purpose 

B. postpone 
C. postcard 

D. product

Question 4. A. accomplished    
B. secretary 
C. comfortable 
D. necessary

Question 5. A. cancer 


B. century 
C. prevention 
D. money

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 6. After her illness, Lam had to work hard to  _______ his classmates.

    
A. catch sight of 
 
B. keep pace with


C. get in touch with

D. make allowance for 

Question 7. ASEAN has emphasized cooperation in the "three pillars" of security, socio cultural and economic _______ in the region.

A. organization 
B. production 
C. integration    
D. establishment

Question 8. There are small _______ between British and American English.

A. differences 
B. different 

C. difference 

D. differently

Question 9. “Why are you so mad?” “You ___ me you weren’t coming to dinner. I waited for you for two hours.”


A. should tell

B. should have told

C. should told
D. should had told

Question 10. The city _____ at one time prosperous, for it enjoyed a high level of civilization. 

A. must have been 
B. can have been
C. may have been 

D. was 

Question 11.The girl __________ design had been chosen stepped to the platform to receive the award.

A. whose                      
 B. whom 

C. that

D. which

Question 12. She was sad because he was rude  …………….. her.

A. of                     
 B. on 

C. to

D. for

Question 13. _______! I have heard of your success in the new project.

A. Congratulations

B. Congratulating  
C. Congratulate
D. Congratulation

Question 14.The _____  things are produced, the ______ prices are.


A. more / cheaper
B. most / cheapest



C. much / cheap
D. many / cheaper

Question 15.Travelling helps people get a lot of _____. 

A. knowing

B. knowledge
C. acknowledge

D. knowledges

Question 16. I knew they were talking about me .................they stopped when I entered the room.  


A. because 

B. so that 

C. despite 
D. therefore

Question 17. Blue ….. you. You should wear it more often

A. goes  
B.  matches 

C. fits    

D.suits

Question 18. My father hasn’t had much ……. with my family since he moved to New York.

a. business  

B. contact  

C. meeting  
D. connection

Question 19. …… he arrived at the bus stop when the bus came.

A. No longer has          B. No sooner had 

C.Hardly had  
D. Not until had

Question 20. The referee ………….. the coin to decide which team would kick the ball first.

A. caught       B.  threw

C. cast


D.tossed

Question 21. Tommy and his classmates weren’t allowed _______ a campfire there for fear of a forest fire.

A. make           B. to make          C. be made         D. to making

Question 22. She doesn't understand ................. I am saying.

A. what 
B. that 
C. whose 
D. where 

Question 23. It is raining outside, and Tom brought his umbrella with him …………… he wouldn’t get wet.

A. so as to 

B. in order 

C. so that 
D. in order to

Question 24. Visitors to the local museum are mostly attracted by ______ rocking chair.

           A. a wooden old beautiful European
B. a beautiful old European wooden
      
C. a wooden beautiful old European
D. an old beautiful wooden European

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is CLOSEST in meaning to the underlined part in each of the following questions.

Question 25. A special exhibition of Indian art will be opened at the National Museum next month.A. painting

B. programme    
C.music  
D.show
Question 26. Traffic began to flow normally again after the accident.

A. with the same speed    

B.  in the usual or ordinary way  

C. repeatedly in different modes  
D.strangely and irregularly

Question 27. Don’t be concerned about your mother’s illness; she’ll recover soon.

A. surprised at
 
B. worried about  
C. embarrassed at    
D.  angry with

Question 28. The crew divided the life preservers among the twenty terrified passengers as the ship began to sink.

Exhausted
surprised
frightened

excited

Question 29. My mom is always bad-tempered when I leave my room untidy.

A. feeling embarrassed

B.talking too much


C. very happy and satisfied

D. easy annoyed or irritated

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction.

Question 30. Aloha is a Hawaiian word meaning ‘love’, that can be used to say hello or goodbye.

                  A                                B                     C   ( which)                       D

Question 31. Higher general education is based on theoretical expertise and might 

                                                   A                                 B

be contrasted with higher vocational education, which concentrating 

                  C                                                                               D
on both practice and theory. (concentrates)

Question 32. Working  provide people with personal satisfaction as well as money.

           A             B       (provides)            C                                            D

Question 33.  Every student who majors in English are ready to participate in the oratorical contest.

           A                              B                      C   (is)                                D

Question 34. When I went shopping , I saw a man to drive his car onto the sidewalk.

          A                   B                                     C      (drive)              D

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word for each of the blanks from 35 to 44.
The University of Oxford, informally called "Oxford University", or simply "Oxford", (35) ______ in the city of Oxford, in England, is (36) ______ oldest university in the English-speaking world. It is also considered as one of the world's leading (37) ______ institutions. The university traces, its roots back to at least the end of the 11th century, (38) ______ the exact date of foundation remains unclear. Academically, Oxford is consistently ranked in the world's top ten universities. The University is also open (39) ______ overseas students, primarily from American universities, who may (40) _____ in study abroad programs during the summer months for more than a century, it has served as the home of the Rhodes Scholarship, (41) ______ brings highly accomplished students from a number of countries to study at Oxford as (42) ______ The University of Oxford is also a place where many talented leaders from all over the world used to study. Twenty-five British Prime Ministers attended Oxford, including Margaret Thatcher and Tony Blair. At (43) ______ 25 other international leaders have been educated at Oxford, and this number includes King Harald V of Norway and King Abdullah II of Jordan. Bill Clinton is the first American President to attend Oxford. Forty-seven Nobel (44) __ winners have studied or taught at Oxford.

Question 35. A. put 


B. placed 

C. located 

D. stood

Question 36. A. a 


B. an  


C. the 

D. Ø

Question 37 A. learning 

B. academic 

C graduating 

D. scholar

Question 38. A although 

B. because 

C. since 

D. if

Question 39. A. to 


B. for 


C from 

D. up

Question 40 A. write 

B. name 

C. enroll 

D. require

Question 41. A. that 

B. where 

C. whose 

D. which
Question 42. A. postgraduates  B. postgraduated  C. postgraduation D. postgraduating

Question 43. A last 


B. least 

C. late 

D. lately

Question 44. A. present 

B. gift 

C. medal 

D. prize
Read the following passage on climate change, and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 45 to 54.

  Experts in climatology and other scientists are becoming extremely concerned about the changes to our climate which are taking place. Admittedly, climate changes have occurred on our planet before. For example, there have been several ice ages or glacial periods.

   These climatic changes, however, were different from the modern ones in that they occurred

gradually and, as far as we know, naturally. The changes currently being monitored are said to be the result not of natural causes, but of human activity. Furthermore, the rate of change is becoming alarmingly rapid.

   The major problem is that the planet appears to be warming up. According to some experts, this warming process, known as global warming, is occurring at a rate unprecedented in the last 10,000 years. The implications for the planet are very serious. Rising global temperatures could give rise to such ecological disasters as extremely high increases in the incidence of flooding and of droughts.These in turn could have a harmful effect on agriculture.

      It is thought that this unusual warming of the Earth has been caused by so-called greenhouse gases,such as carbon dioxide, being emitted into the atmosphere by car engines and modern industrial processes, for example. Such gases not only add to the pollution of the atmosphere, but also create agreenhouse effect, by which the heat of the sun is trapped. This leads to the warming up of the planet.

    Politicians are also concerned about climate change and there are now regular summits on thesubject, attended by representatives from around 180 of the world's industrialized countries. Of thesesummits, the most important took place in Kyoto in Japan in 1997. There it was agreed that the mostindustrialized countries would try to reduce the volume of greenhouse gas emissions and were given targets for this reduction of emissions.

  It was also suggested that more forests should be planted to create so-called sinks to absorb

greenhouse gases. At least part of the problem of rapid climate change has been caused by too drastic deforestation.
   Sadly, the targets are not being met. Even more sadly, global warnings about climate changes are often still being regarded as scaremongering.

(From Read and Understand 2 by Betty Kirkpatrick & Rebecca Mok - Learners Publishing Pte Ltd 2005)

Question 45. According to the passage, in what way did the climate changes in the ice ages differ

from the modern ones?

A. They occurred naturally over a long period of time.
B. They were fully monitored by humans.

C. They were wholly the result of human activity.

D. They were partly intended.

Question 46. The word “alarmingly” in paragraph 2 is closest in meaning to ______.

A. disapprovingly
B. worryingly
 C. surprisingly  D. disappointingly

Question 47. According to the passage, agriculture could ______.

A. give rise to many ecological disasters

B. make the global warming more serious

C. be indirectly affected by the global temperature rises

D. be directly damaged by the rises in global temperature

Question 48. Greenhouse gases cause the warming up of the Earth because they ______.

A. are emitted by car engines 
 B.trap heat from the sun

C. are unusual gases
  

D..do not add to atmosphere pollution

Question 49. According to the passage, 1997 witnessed ______.

A.the largest number of summits on the subject of climate change

B. the highest attendance by representatives from 180 industrialised countries

C. the most important summit on climate change taking place in Kyoto, Japan
D. widespread concern about climate change 

Question 50. It can be inferred from the passage that the countries which are mainly responsible for global warming are ______.

A. developed countries

B. countries with the warmest climate

C. the most industrialised countries
D. developing countries

Question 51. The word “There” in paragraph 5 refers to ______.

A. regular summits on climate change

B. the world’s industrialised countries

C. the 1997 summit in Kyoto, Japan
D.the most industrialised countries

Question 52. Which of the following is NOT true, according to the passage?

A. The so-called sinks created by forests can absorb greenhouse gases.

B. Politicians are among those who are concerned about climate change.

C. The problem of rapid climate change has been caused mainly by deforestation.

D. Carbon dioxide is one of the gases that may cause the so-called greenhouse effect.

Question 53. The word “drastic” in paragraph 6 is closest in meaning to ______.

A. Severe

B. hard 
C. obvious
D. widespread

Question 54. What is probably the writer’s attitude toward global warming?

A. Optimistic 
B.  Neutral

C. Positive  D. Pessimistic
Read the following passage on climate change, and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 55 to 64.

     Culture is a word in common use with complex meanings, and is derived, like the term broadcasting, from the treatment and care of the soil and of what grows on it. It is directly related to cultivation and the adjectives cultural and cultured are part of the same verbal complex. A person of culture has identifiable attributes, among them a knowledge of and interest in the arts, literature, and music. Yet the word culture does not refer solely to such knowledge and interest nor, indeed, to education. At least from the 19th century onwards, under the influence of anthropologists and sociologists, the word culture has come to be used generally both in the singular and the plural (cultures) to refer to a whole way of life of people, including their customs, laws, conventions, and values.

       Distinctions have consequently been drawn between primitive and advanced culture and cultures, between elite and popular culture, between popular and mass culture, and most recently between national and global cultures. Distinctions have been drawn too between culture and civilization; the latter is a word derived not, like culture or agriculture, from the soil, but from the city. The two words are sometimes treated as synonymous. Yet this is misleading. While civilization and barbarism are pitted against each other in what seems to be a perpetual behavioural pattern, the use of the word culture has been strongly influenced by conceptions of evolution in the 19th century and of development in the 20th century. Cultures evolve or develop. They are not static. They have twists and turns. Styles change. So do fashions. There are cultural processes. What, for example, the word cultured means has changed substantially since the study of classical (that is, Greek and Roman) literature, philosophy, and history ceased in the 20th century to be central to school and university education. No single alternative focus emerged, although with computers has come electronic culture, affecting kinds of study, and most recently digital culture. As cultures express themselves in new forms not everything gets better or more civilized.

    The multiplicity of meanings attached to the word made and will make it difficult to define. There is no single, unproblematic definition, although many attempts have been made to establish one. The only non-problematic definitions go back to agricultural meaning (for example, cereal culture or strawberry culture) and medical meaning (for example, bacterial culture or penicillin culture). Since in anthropology and sociology we also acknowledge culture clashes, culture shock, and counter- culture, the range of reference is extremely wide.

Question 55. According to the passage, the word culture ______.

A. is related to the preparation and use of land for farming
B. comes from a source that has not been identified

C. develops from Greek and Roman literature and history

D.derives from the same root as civilization does

Question 56. It is stated in paragraph 1 that a cultured person ______.

A.has a job related to cultivation 


B. does a job relevant to education

C.takes care of the soil and what grows on it         

D.has knowledge of arts, literature, and music
Question 57. The author remarks that culture and civilization are the two words that ______.

A. share the same word formation pattern

B. have nearly the same meaning

C. are both related to agriculture and cultivation

D. do not develop from the same meaning
Question 58. It can be inferred from the passage that since the 20th century ______.

A. schools and universities have not taught classical literature, philosophy, and history

B. classical literature, philosophy, and history have been considered as core subjects

C. classical literature, philosophy, and history have not been taught as compulsory subjects
D.all schools and universities have taught classical literature, philosophy, and history

Question 59. The word “attributes” in paragraph 1 most likely means ______.

A. fields
B. qualities 
C. aspects  
D. skills

Question 60.The word “static” in paragraph 2 could best be replaced by “______”.

A. unchanged

B.balanced   C.  regular   
D.dense

Question 61. Which of the following is NOT stated in the passage?

A. Anthropology and sociology have tried to limit the references to culture.

B. Distinctions have been drawn between culture and civilization.

C. The use of the word culture has been changed since the 19th century.

D. The word culture can be used to refer to a whole way of life of people.

Question 62.  It is difficult to give the definitions of the word culture EXCEPT for its ______.

A. agricultural and medical meanings
B. philosophical and historical meanings

C. historical and figurative meanings

D. sociological and anthropological meanings

Question 63. Which of the following is NOT true about the word culture?

A. It differs from the word civilization
B. It evolves from agriculture.

C. Its use has been considerably changed.
D. It is a word that cannot be defined.

Question 64. The passage mainly discusses ______.

A. the multiplicity of meanings of the word culture
B. the distinction between culture and civilization

C. the figurative meanings of the word culture

D. the derivatives of the word culture
Answers:

Part 1:

65. This is the first time I’ve eaten this kind of food.

66. If we had had enough money, we would/could have gone on holiday.

67. It takes six hours to drive from London to Edingburgh.

68. Do you happen to have change for a pound?

69. The office manager wondered why he hadn’t got a computer before.

